LOMBARDINE:oup: 6LD

A KOHLER. COMPAN'Engine: 6LLD 260 Drawing: E

FUEL SYSTEM
POS. |CODE DESCRIPTION Qty

1 p043.025 FUEL TANK CAP 1
2 4650.056 gasket 1
3 4701.010 gasket 1
4 8866.053 gear s.tank support 1
5 1770.111 bolt M 8 2
11 1901.029 union bolt M 8 1
12 1670.058 copper gasket diam. 8,2X12X1,5 2
13 6760.035 stud M 6 X 53 (65) 2
14 B3203.050 selflocking nut M 6 2
15 B3790.074 injector top plate 1
16 (———— » gasket 0
17 7301.006 connection 1
19 B3616.095 fuel tank strap 1
20 730.016 screw M 6 X 35 2
21 1557.019 drilled block 2
22 9600.057 rubber spacer 2
23 8103.040 fuel tank 1
25 1770.111 bolt M 8 2
32 6615.032 NOZZLE-HOLDER 1
33 6531.095 nozzle 1
36 372.090 high press.pipe 1
51 5575.006 spring 1
52 3930.019 cup 1
56 1901.029 union bolt M 8 1
58 4670.058 copper gasket diam. 8,2X12X1,5 1
60 1901.012 union bolt 1
61 4670.005 copper gasket 0,50 1
61 4670.006 copper gasket 1,00 1
62 571.154 bleed.pipe (mm 530) 1
63 4670.060 copper gasket diam.12 1
64 (————= » INJECTION PUMP 0
66 1200.031 rubber o0il seal 1
68 7265.008 connection 1
69 9730.100 screw M 8 X 25 2
70 J625.010 washer diam. 8 2
74 1200.268 rubber o0il seal 1
75 4490.017 gasket 1
76 2175.032 fuel filter cartridge 1
76 B730.028 FUEL FILTER 1
77 9375.274 hose from gear side tank to inj.pump (mm 142) 1
79 4580.023 gasket 0,30 1
79 4580.024 gasket 0,50 1
79 1580.029 gasket 0,10 1
79 4580.057 gasket 0,05 1
80 6000.036 tappet 1
81 7215.035 tappet 1
82 $5755.034 delivery valve spring Omap 1
83 672.012 delivery valve BOSCH 1
88 4431.040 gasket 1
90 2605.028 filter cover 1
91 3630.008 clamp 1
93 6578.010 Injection plunger 1
94 6400.059 cup Stanadyne 1

printed by LOMBARDINI:

11/08/2010 -

1




Group: 6LLD
Engine: 6LLD 260 Drawing: E

FUEL SYSTEM
POS. |CODE DESCRIPTION Qty
106 1760.162 bolt 1
107 1202.052 rubber oil seal 1
printed by LOMBARDINI: 11/08/2010 - 2




Engine: 6L.LD 260 Drawing: E

|
36 37 38 39 40 41

. 32 ilai
13— _//33 /80 |
16—, /6',’,"79\' B

o}

WQT 99 100 101 102 103/

98 L:(Ef ) 1074 (L
‘ J

u

115/&—120

printed by LOMBARDINI: 11/08/2010



